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5 TZAKQNAX FEQPTIOY XTYNAZ647889 O)Ox1 |5 0O 0 1 0 0 15,00 49 |275|0 |0 [30 |0 |0 300,00 |343 |Ox1 |1 |Ox1 |948,00 |1
4 MANAMAZ XPHXTOX TEQFAH334348 OyOx1 |0 0 0 0 o0 0 1570 13410 |0 |0 [0 |O |0 314,00 |420 |Oxi |1 |Oxi |[734,00 |2
1 TZEMNEAIAHZ >TAYPOX TPHIM778278 0O)Ox1 |2 0 0 0 0O 0 1840 52 |0 |0 |0 [0 |O |0 368,00 364 |Oxi |1 |Oxi (732,00 |3
2 TKANTAX MIXAHA QT 481957 NcOx1 |0 0 0 0 0O 0 16,60 42 |0 |0 |0 [0 |O [0 332,00 (294 |[Nai |1 |Oxi1 (626,00 |4
3 TKOYTZIAPHX TEQPrIOx AITE AA986335 NcOx1 |3 0O 0 0 O 0 13,01 46 |0 |0 |0 [0 O [0 ]260,20 [322 [Nai |1 |Oxi1 [582,20 |5
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